FUNCIONES

Ejercicio 1.- Calcularel dominio ddas siguientes funciones:

a. f (x)=9-4x> Domf =R k. g(x)=4/x +5x+8 Domg =R
b. g(x) = 7_X Domg=R-{V7,~/7} 1 1(x) = 3+ 2x— X2 Doml =[-13]
x-1 e _V9-X%° _[- a4 -{-
Ch() =5 7~ | Domh=R {- 213 m. m() =~ Domm =[- 33 -{-1}
d y:1+%—xi_1 Domy:R—{OJ} n_y:e/Vx+2-yx_7 Domy=R- {07}
e.f(x)=5|— - Dom f :R—{ﬁ,—ﬁ} fi. fi(x) = In(2x +3) Domﬁ:( g’+°°J
- X
f f(X)=x—% Dom f = (0,+) 0. k(x)= In(2x+3)+= Domk = [ g+ooJ—{o}
g.y=+/x> -5x+6 Domy = (~e0,2| 0 [3+0) p. f( 3 =sen/1-x? Dom f =[-11]
-2
h.y= s Domy = (-0 ,2) 0 (3,+0) g. f(x)=x* - 3x+In5°> | Domf =R
. -2
Ly=- it Domy=R-{23} r.h(x) = %ﬁ%—xxz Domh = (- 5-4) 0 (15)
X+2 S 3 w
j. f(x) = v Domf = (—oo,—Z]D(gﬁooj s.y=tg(2x-3) Dom f = R—{§+(Z< +1)Z conkDZ}




Ejercicio 2.- Dadas las funcioned:(x) = ;x_+xl’ g(x) =v/x+2 y h(x) =e*®, calcular:

a) Sus dominios b) o g c) geh d) gog e) f™ f) gt g) h™ h) f'og
SOL:
1 1-Vx+2 =
Domf=R-<-= D =[-2 Domh=R b) (fo = o h(x)=ve*®+2
a) Dom { 3} omg =[- 2,+) om ) (fog)(x) X2l c) (go N(X)=ve>* +

d) (go g)(x) - [ /_X+ 242 e) f—l(x) — :;I-X_-I-Xl f) g—l (X) — X2 -2 g) h_l(X) :%(Inx+6) h) (f_l ° g)(X) = 1_X\/+X2++21





